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Rond 1 Mars
8. Kjell (1N)
6. CGX (20)
5. Gertiel (2N)
3. Bodil (10)
Rond 2

8. Kjell (1N)
2. Ingrid (20)
1. Gittan (2N)
6. CGX (10)
Rond 3 April
8. Kjell (1N)
5. Gertie (20)
4. Ove (2N)
2. Ingrid (10)
Rond 4

8. Kjell (1N)
1. Gittan (20)
7. Karin (2N)
5. Gertie (10)
Rond 5 Maj
8. Kjell (1N)
4. Ove (20)
3. Bodil (2N)
1. Gittan (10)
Rond 6

8. Kjell (1N)
7. Karin (20)
6. CGX (2N)
4. Ove (10)
Rond 7 Juni
8. Kjell (1N)
3. Bodil (20)
2. Ingrid (2N)
7. Karin (10)
Rond 8

8. Kjell (1N)
6. CGX (20)
5. Gertie (2N)
3. Bodil (10)

Syskon
Bodil (3)
Kjell (8)
Gertie (5)
Karin (7)
Ove (4)
CGX (6)
Gittan (1)
Ingrid (2)

Kjell
1. Gittan (1S)
2. Ingrid (2V)
7. Karin (2S)
4. Ove (1V)

4. Ove (1S)
5. Gertie (2V)
3. Bodil (2S)
7. Karin (1V)
Ove
. Karin (1S)
. Gittan (2V)
. CGX (2S)
. Bodil (1V)

wo -~ N

. Bodil (1S)

. Ove (2V)

. Ingrid (2S)

.CGX (1V)
Bodil

.CGX (1S)

. Karin (2V)

. Gertie (2S)

. Ingrid (1V)
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. Ingrid (1S)

. Bodil (2V)

. Gittan (2S)

. Gertie (1V)
CGX

. Gertie (1S)

. CGX (2V)

. Ove (2S)

. Gittan (1V)
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1. Gittan (1S)
2. Ingrid (2V)
7. Karin (2S)
4. Ove (1V)

Imp +

407
468
492
319
354
439
473
372

36
36
19
19

46
46
45
45

39
39
28
28

43
43
11
11

25
25
25
25

15
15
33
33

59
59
17
17

37
37
19
19

Imp -

414
353
329
502
467
382
388
449

19
19
36
36

45
45
46
46

28
28
39
39

11
11
43
43

25
25
25
25

33
33
15
15

17
17
59
59

19
19
37
37

Kvot
0,98
1,33
1,50
0,64
0,76
1,15
1,22
0,83

VP
205
239
251
162
180
225
222
192

20
20
10
10

15
15
15
15

18
18
12
12

23
23

15
15
15
15

10
10
20
20

25
25

20
20
10
10



Rond 9 Juli
8. Kijell (1N)
2. Ingrid (20)
1. Gittan (2N)
6. CGX (10)
Rond 10

8. Kjell (1N)
5. Gertie (20)
4. Ove (2N)
2. Ingrid (10)
Rond 11 Aug
8. Kijell (1N)
1. Gittan (20)
7. Karin (2N)
5. Gertie (10)
Rond 12

8. Kjell (1N)
4. Ove (20)
3. Bodil (2N)
1. Gittan (10)
Rond 13 Sept
8. Kijell (1N)
7. Karin (20)
6. CGX (2N)
4. Ove (10)
Rond 14

8. Kjell (1N)
3. Bodil (20)
2. Ingrid (2N)
7. Karin (10)

Gertie
. Ove (1S)
. Gertie (2V)
. Bodil (2S)
. Karin (1V)

~N w oA

. Karin (1S)
. Gittan (2V)
. CGX (2S)
. Bodil (1V)
Gittan
3. Bodil (1S)
4.0ve (2V)
2. Ingrid (2S)
6. CGX (1V)

wo -~

.CGX (1S)

. Karin (2V)

. Gertie (2S)

. Ingrid (1V)
Ingrid

. Ingrid (1S)

. Bodil (2V)

. Gittan (2S)

. Gertie (1V)
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5. Gertie (1S)
6.CGX (2V)
4. Ove (2S)
1. Gittan (1V)
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43
22
22

30
30

27
27
49
49

14
14
45
45

29
29

45
45

22
22
43
43

30
30

49
49
27
27

45
45
14
14

10
10
20
20

25
25



